
Quiz  – Lab6: Robot Bluetooth Hijacking 

 

1. Which one is the distributed application structure that partitions tasks or workloads between 

the providers of a resource or service and service requesters?   

a. Full-duplex model 

*b. Client-server model 

c. Peer-to-peer model 

d. None of above 

 

2. Which one describe the “hijacking attack” most? 

a. Ann asked Bob to give a memo to Maria. Bob read it and gave it to Maria.   

b. Ann asked Bob to give a memo to Maria. Bob did not give it to Maria. 

*c. Ann asks Bob to give a memo to Maria. Bob gave the memo to Maris with his message as if 

it comes from Ann. 

d. All of above 

 

3. Which one is not a Passive attack?  

a. Sniffing attack 

*b. Denial of service 

c. Tapping 

d. None of above 

 

4. Which one is TRUE statement?   

a. Passive attack is easier to notify than Active attack.  

b. Active attack sneak into the system and monitors the system activities.  

*c. We use detection for active attack.  

d. All the above 

 


